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102/BMS 1 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 
 

,yq;if fzf;fPl;L njhopEl;gtpayhsh;fs; fofk; 

kl;lk;  I guPl;ir – [{iy 2022 

(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

gupe;Jiuf;fg;gl;l tpilfs; 

 

 (nkhj;jk; 40 Gs;spfs;) 
          
tpdh 01 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;  
1.1 (3) 

 = -5x2 – 4x +12 

 = -5x2 – 10x + 6x +12 

= -5x(x + 2) + 6(x +2) 

=  (x + 2) (-5x + 6) 
(03 Gs;spfs;) 

1.2    (4) 

        S = X (1 + r)n  X = 50,000,        r = 7% = 0.07,           n = 3 

        S = 50,000 × (1.07)3 

                     S = 61,252.15 

    nkhj;j tl;b = 61,252.15 – 50,000 = Rs.11,252 
                                    

                                                           (03 Gs;spfs;) 
1.3    (4) 

  Y = 0.33 + 0.667x         X=250 

           Y = 0.33 + 0.667× 250 

          Y = 167 .080 

           vjpu;ghu;j;j ,yhgk; = Rs.167,080 

   (03 Gs;spfs;) 

1.4    (4) 

 𝑄 =
𝑞1

𝑞0
× 100 

𝑄 =
10

12
× 100 = 83% 

     (03 Gs;spfs;) 
 
 

gFjp A 

 

 

 

 

 



 

 

102/BMS 2 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

1.5  (2) 

ePy epw khgps;fspd; vz;zpf;if          06 

gr;ir epw khgps;fspd; vz;zpf;if     04 

nkhj;j khgps;fspd; vz;zpf;if           10 

            P(ePyk;) = 
6

10
    P(gr;ir) = 

4

10
  

           P(ePyKk; gr;irAk;) = 
6 

10
 ×  

4

10
 = 

𝟐𝟒

𝟏𝟎𝟎
 

 (03 Gs;spfs;) 

1.6 (2) 

𝐌𝐝  = 𝐋𝟏 +
( 

𝐧
𝟐 − 𝐅𝐜 )

𝐟𝐦
 × 𝐜 

 

                                  Md = 27.5 +
(30−20 )

12
 × 8 

 

                                  𝐌𝐝 = 𝟑𝟒. 𝟐 
 (03 Gs;spfs;) 

1.7 (1) 

     𝐓𝐧  = 𝐚𝐫𝐧−𝟏             a = 2,           r = 3,        n = 6 

     T6  = 2 × 35  

     𝐓𝟔 = 𝟒𝟖𝟔 

(03 Gs;spfs;) 

1.8 (4) 
 

             AER = (1 + r/N)N - 1           r=0.08,                    N=4 

             AER = (1 + 0.08/4)4 - 1   

             AER = 0.0824 

             AER = 8.24% 

             (03 Gs;spfs;) 

1.9 (4) 

𝑌̂ = 𝑇̂ × 𝑆̂ 

 𝑌̂ = 9,575 × 0.86 

 𝒀̂ = 𝟖, 𝟐𝟑𝟓 

(03 Gs;spfs;) 

 

 



 

 

102/BMS 3 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

1.10   (3)       

Mz;Lj;njhifapd; ,w;iwg;ngWkjp                                                                          

PV of Annuity = x (
1   

r 
−

1

r (1 + r)n
) 

Mz;Lj;njhifapd; ,w;iwg;ngWkjp                                                                          

PV of Annuity = 14,000 x (
1   

0.09 
−

1

 0.09(1 + 0.09)5
) 

 

x= 14,000, n = 5,        r = 0.09 

𝑷𝑽 = 𝑹𝒔. 𝟓𝟒, 𝟒𝟓𝟓  
                   (03 Gs;spfs;) 

1.11 

 A    (4) 

 B    (3) 

 C    (2) 

 D    (1) 
(01Gs;sp tPjk; nkhj;jk; 04 Gs;spfs;) 

1.12  
 
1. FwpaPl;L vz;fs; mtw;wpd; ,ay;gpd; fhuzkhf xU fhyj;jpy; Vw;gLk; nghJthd 

khw;wq;fspd; mwpFwpfis kl;LNk ntspg;gLj;Jfp;d;wd. 

2. FwpaPl;L vz;fs; khjpupj;juit mbg;gilahf nfhz;lit , khjpupj;juTfs; 

vOkhw;whf njupTnra;ag;gltpy;iynadpy; FwpaPl;L vz;fs; jtwhd jfty;fis 

toq;ff;$Lk;. 

3. re;ju;g;gj;jpy; khjpupfs; kpff;Fiwthf ,Ue;jhy; FwpaPl;L vz;fs; jtwhd 

jfty;fis toq;ff;$Lk;.  

4. rpy Neuq;fspy; mjpfhuk; $ba egu;fs; mtu;fspd; KbTfSf;F Mjutspf;Fk; 

tifapy; FwpaPl;L vz;fspy; khw;wq;fis nra;ayhk;  

5. FwpaPl;L vz;fis cUthf;Ftjw;F gy;NtW rkd;ghLfis ghtpf;Fg;nghOJ mit 

NtWgl;l KbTfis juf;$Lk;. 

6. xNu tifahd mbg;gil kw;Wk; tiffisf; nfhz;l FwpaPl;L vz;fs; FWfpa 

fhyj;jpw;F kl;LNk gaDs;sjhf mikAk;. vdNt mit kpfTk; ePz;l fhyj;jpw;F 

Ke;jpa Mz;il mbg;gilahf gad;gLj;jhky; ,Ug;gij cWjpnra;jy; Ntz;Lk;. 

7. FwpaPl;L vz;izg;gw;wp tpsf;fk; toq;Fgtu; nghUshjhuk; gw;wpa Kf;fpa 

tplaq;fisAk; FwpaPl;L vz; njhlu;ghd fhuzpfisAk; ed;F mwpe;jpUj;jy; 

Ntz;Lk;. 

8. FwpaPl;L vz;fis fzf;fpl gy;NtW Kiwfs; gad;gLj;jg;gLfpd;wd mj;Jld; 

mit gy;NtW KbTfis ntspg;gLj;Jfpd;wd. 

(02 Gs;spfs;) 



 

 

102/BMS 4 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

1.13 Xuhaf; Fzfk; 

𝑺𝑲 =
𝟑(𝑿̅−𝑴𝒅)

𝑺
              𝑪𝒐𝒆𝒇𝒇𝒊𝒄𝒊𝒆𝒏𝒕 𝒐𝒇 𝑺𝒌𝒆𝒘𝒏𝒆𝒔𝒔 =  

𝟑 (𝑴𝒆𝒂𝒏−𝑴𝒆𝒅𝒊𝒂𝒏)

𝑺𝒕𝒂𝒏𝒅𝒂𝒓𝒅 𝑫𝒆𝒗𝒊𝒂𝒕𝒊𝒐𝒏
 

                                                          𝑆𝐾 =
3(74,500−83,000)

1,900
 

        

𝑆𝐾 =  
−25,500

1,900
 

𝑺𝑲 = −𝟏𝟑. 𝟒𝟐 

 (02 Gs;spfs;) 

1.14  cz;ik                                                                                               

    (01 Gs;spfs;)                                                                                                                                                                      

1.15  ngha;                                                                                                              

(01 Gs;spfs;)    

(nkhj;jk;  40 Gs;spfs;) 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
  

gFjp A KbT 



 

 

102/BMS 5 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

(nkhj;jk; 40 Gs;spfs;) 
 

tpdh 02 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;  

mj;jpahak; 01 - mbg;gil fzpj vz;zf;fUf;fs; 

(a)      
             9a + 4b = 42                       1 

5a + 3b = 28                       2 

             1   × 3 = 27a + 12b       = 126                     3 

             2   × 4 = 20a + 12b       = 112                     4 

             3   -     4       => 7a = 14  

                                         a  = 2 

             1  => 9 × 2 + 4b   = 42 

                18 + 4b = 42 

                                    4b   = 42 – 18 

                                    4b   = 24 

                                b   = 6  

 (04 Gs;spfs;) 

(b)        

mDkhdpj;jy;,  A tpahghuj;jpd; ,yhgk; - & X kpy;ypad; 

MfN;t,  B tpahghuj;jpd; ,yhgk; - & 2X kpy;ypad; 

 x + 2x = 6  

                   3x = 6  

        x = 2 

A tpahghuj;jpd; ,yhgk; = Rs. 2 kpy;ypad; 

B tpahghuj;jpd; ,yhgk; = Rs. 4 kpy;ypad; 

(03 Gs;spfs;) 
 
 

 
 

gFjp B 

 

 

 

 

 



 

 

102/BMS 6 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

(c)  
        Mz;         ngz;      

           3             :                  5     

         

                Mz; => 3/8              ngz; =>  5/8 

       ,uz;L tpfpjq;fSf;Fkpilapyhd tpj;jpahrk;  2  

        ngz; Copau;fspd; vz;zpf;if =
𝟏𝟐𝟎

𝟐
 × 𝟓 = 𝟑𝟎𝟎 

    my;yJ tpj;jpahrk; 2X = 120 
          X = 60 

    60 x 5 = 300 

  (03 Gs;spfs;) 
(nkhj;jk; 10 Gs;spfs;) 

 
tpdh 03 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

mj;jpahak; 03 – tzpfj;jpw;fhd epjpapay; nraw;ghl;L mstPLfs; 

(a) 

(i) 

nkhj;j fpuak;  (TC) rhu;G    = khWk; fpuak; + epiyahd fpuak; 

                                  = -q2 + 32q + 496,800  

nkhj;j tUkhd (TR) rhu;G    = Nfs;tp x myFfspd; vz;zpf;if 

                                                 = (400 - q)q 

                                    = 𝟒𝟎𝟎𝐪 − 𝐪𝟐  

                                                                                                         (03 Gs;spfs;)      
(ii)   ,yhgel;lkw;w fzpa Gs;spapd;NghJ 

             TR = TC  

                  400q − q2 = -q2 + 32q + 496,800 

                    400q − 32q = 496,800 

         368q = 496,800 

                                       q  = 1,350 myFfs; 

,yhgel;lkw;w fzpak; = 1,350 myFfs; 

(04 Gs;spfs;)      

 

 



 

 

102/BMS 7 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 (b)  

 TC = 4q2 - 16q + 600,000 

  vy;iyf;fpua (MC) rhu;G = 
d (TC)  

𝑑𝑞
 

                                       
d (TC)  

𝑑𝑞
   =  4q

2 
-  16q + 600,000 

                                       MC    =  8q -16 

 fpuak; ,optilAk;NghJ,  

  
𝑑𝑇𝐶

𝑑𝑞
= 0   

     8𝑞 − 16 = 0 

                 𝑞 = 2 

fpuak; ,opthFk; NghJ cw;gj;jp myFfspd; vz;zpf;if = 2,000 myFfs; 

     (03 Gs;spfs;) 
(nkhj;jk; 10 Gs;spfs;) 

tpdh 04 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

mj;jpahak; 05 – ,U msTrhu; khjpupfis xg;gPL nra;jy;  

(a)  

∑ X = 5,950   ∑ Y = 106,   ∑ XY = 82,030,   ∑ X2 = 4,534,500,   n = 8  

x y xy  x2 

660 11 7,260 435,600 

750 14 10,500 562,500 

650 12 7,800 422,500 

730 13 9,490 532,900 

540 6 3,240 291,600 

900 18 16,200 810,000 

870 17 14,790 756,900 

850 15 12,750 722,500 

5,950 106 82,030 4,534,500 
 
 

     b    =  
𝐧 ∑ 𝐗𝐘 −  ∑ 𝐗 ∑ 𝐘

𝐧 ∑ 𝐗𝟐 −  (∑ 𝐗)𝟐  

    b  = 
(8 × 82,030 ) –(5,950 × 106)

(8 × 4,534,500)−5,9502  

     b  = 
656,240 – 630,700

32,276,000 −35,402,500
 

     b  =  
25,540

873,500
 

     b =  0.029 



 

 

102/BMS 8 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

    a   =    𝒀̅ − 𝒃𝑿̅ 

           =    
𝜀𝑦

 𝑛
− 

𝑏𝜀𝑥

𝑛
 

           =    
106

8
− [0.029 ×

5,950

8
] 

           =   13.25 – 21.57 

      a   =   -8.32 

     rkd;ghL, 

       𝑌 = 𝑎 +  𝑏𝑥 

       𝑌 = −8.32 +  0.029𝑥   

       𝒀 = −𝟖. 𝟑𝟐 +  𝟎. 𝟎𝟐𝟗𝒙  
 

(07 Gs;spfs;) 

(b)  

FLk;gj;jpd; Mz;L tUkhdk; Rs.800,000/-. 

 MfNt, 

gjpyPL x = 800                                                                                                                              

                                       𝑌 = − 8.32 + 0.029𝑥   

   Y =  − 8.32 + 0.029 ×800   

                                        Y = − 8.32 + 23.2 

Y =  14.88 

fy;tpf;fhf vjpu;g;ghu;f;fg;gLk; tUlhe;j nryT = Rs.14,880 

 

      (03 Gs;spfs;) 
(nkhj;jk; 10 Gs;spfs;) 

 
 
 
 
 
 
 
 
 
 
 



 

 

102/BMS 9 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

tpdh 05 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

mj;jpahak; 04 – juTfis Kd;dpiyg;gLj;jy; kw;Wk; tpupthd mstPLfs;     

(a)  

tFg;ghapil 
𝒇 𝒙 𝒇𝒙  𝒇x2 

20 – 29 8 24.5 196 4,802 

30 – 39 6 34.5 207 7,141.50 

40 - 49 5 44.5 222.5 9,901.25 

50 – 59 21 54.5 1,144.5 62,375.25 

60 – 69 14 64.5 903 58,243.50 

70 – 79 6 74.5 447 33,301.50 

 60  3,120 175,765 

       
L1 = 49.5, ∆1= 21 − 5 = 16   ∆2= 21 − 14 = 7             C = 10 

                                                        𝑴𝒐 = 𝑳𝒊 + [
∆𝟏

∆𝟏+∆𝟐
] × 𝑪 

𝑀𝑜 = 49.5 + [
16

16 + 7
] × 10 

                                                                = 49.5 + 6.96 

                                                       𝑴𝒐 = 𝟓𝟔. 𝟒𝟔 

Mfhu tFg;G  50-59 

 (03 Gs;spfs;) 

 (b) ,il         =   ∑ 𝒇𝒙 

           ∑ 𝒇 

            =  3,120 

       60 

             =  52 
 

(03 Gs;spfs;) 
 
 
 
 
 
 
 



 

 

102/BMS 10 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 

(c) 

epak tpyfy; = √
∑ 𝒇𝒙𝟐

∑ 𝒇
− 𝒙         

                                   = √
175,765     

60
−  522        

                                   =√2,929.42 –  2,704 

                                   = √225.42 

          =   15.01 

     (04 Gs;spfs;) 
(nkhj;jk;  10 Gs;spfs;) 

 

 

 

 

 

 

 

 

 

 

  

gFjp B KbT 



 

 

102/BMS 11 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 (nkhj;jk; 20 Gs;spfs;) 
 
tpdh 06 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

mj;jpahak; 02 - tzpfj;jpw;fhd epjpapay; fzpjk; 

(A) jtizf;fl;lzk;  

   Installment =  𝑃 𝑥 𝑟 (1+𝑟)
𝑛

(1+𝑟)
𝑛

−1
 

                                            =  
600,000 𝑥 0.10(1.10)5

(1.1)5−1
  

                           𝐱 = 𝐑𝐬. 𝟏𝟓𝟖, 𝟐𝟕𝟖/- 

 flDf;fhd tUlhe;j jtizf;fl;lzk; = Rs. 158,278 

  (03 Gs;spfs;) 

mj;jpahak; 02 –tzpfj;jpw;fhd epjpapay; fzpjk; 
(B) 

 (a)  

 0 1 2 3 

nraw;wpl;lk;   X 

    fhRg;gha;r;ry;  (600,000) 250,000 250,000 250,000 

    fopT fhuzp (10%) 1.000 0.909 0.826 0.751 

    ,w;iwg;ngWkjp  (600,000) 227,250 206,500 187,750 

,w;iwg;ngWkjp  (njupT 1) +21,500 

nraw;wpl;lk;  Y 

    fhRg;gha;r;ry;  (800,000) 380,000 350,000 300,000 

    fopT fhuzp (10%) 1.000 0.909 0.826 0.751 

    ,w;iwg;ngWkjp  (800,000) 345,420 289,100 225,300 

,w;iwg;ngWkjp  (njupT 2) +59,820 

 (04 Gs;spfs;) 
(b)  

njupT X          njupT Y 

KjyPL                600 000  800 000 

,w;iwg;ngWkjp       21,500   59,820 

  

cau;e;j ,w;iwg;ngWkjp  & 59,820 MFk; . vdNt nraw;wpl;lk; Y njupTnra;ag;gl 
Ntz;Lk;.         

(02 Gs;spfs;) 

gFjp c 

 

 

 

 

 



 

 

102/BMS 12 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

(C) 

mj;jpahak; 06 – epfo;jfT kw;Wk; mjd; gpuNahfk; 

(a) Mz; Copauhf ,Ug;gjw;fhd epfo;jfT- P(Mz;) = 
45

100
 = 

9

20
= 45% = 0.45 

 (02 Gs;spfs;) 
(b) njupT nra;ag;gl;ltu; xU Kfhikahsu; vDkplj;jpy; mtu; xU ngz;zhf 
,Ug;gjw;fhd epfo;jfT 

                                           𝐏(𝐁/𝐀) =  
𝐏(𝐀Ո𝐁)

𝐏(𝐁)
 

    =  
7

15
 

                                             = 0.47 

                                      (02 Gs;spfs;) 

(D)  

mj;jpahak;   06 – epfo;jfT kw;Wk; mjd; gpuNahfk; 

(a) 

 
 
 
 

 

 

 

 

E(X) = ∑ X × P 

              = 1.5 

                                      (03 Gs;spfs;) 

 (b)  X : xU kPdtuhy; gpbf;fg;gl;l kPdpd; vil (kg) 

 µ=7.5  σ =1.8 

        𝒁 =
𝐗  −  µ

𝛔 
                                    

 

𝑍 =
X  −  7.5

1.8
     

 

 

 

x p xp 

0 0.125 0 

1 0.375 0.375 

2 0.375 0.75 

3 0.125 0.375 

  

1.5 



 

 

102/BMS 13 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

X=10, 

                       𝑍 =
10  −  7.5

1.8
 

                       𝑍 =
2.5

1.8
 

                                 = 1.388 𝑜𝑟 1.39     

                       Z = 0.4177 

 

      

 

  

 

 

    

                                 Pr(X > 10) = 0.5 – 0.4177                                   

                                   = 0.0823 

                                   = 8.23% 

* kPdtu; gpbj;j kPd;fspd; vil 10kg ,id tpl mjpfkhf ,Ug;gjw;fhd epfo;jfT 

0.0823 or 8.23%. 

                                      (04 Gs;spfs;) 

                                      (nkhj;jk;  20 Gs;spfs;) 
 

 

 

 

 
 

 
 

gFjp C KbT 



 

 

102/BMS 14 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 
Notice:  
These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 
constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and 
should not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 
fundamental objective of this publication is to add completeness to its series of study texts, 
designs especially for the benefit of those students who are engaged in self-studies. These are 
intended to assist them with the exploration of the relevant subject matter and further enhance 
their understanding as well as stay relevant in the art of answering questions at examination 
level. 
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